BID NO. B04-13/14



Page 5

BID FORM

The undersigned hereby offers, subject to all specifications, terms and conditions, Performance Standards, General Conditions, and General Provisions herein, to furnish the City of Chula Vista the following:

Please see the Community Facility District and Landscape Standards documents for scope of work and performance requirements.

Company Name Blue Skies Landscape Ma	untenance Inc.
Address PO Box 17026	
City San Diego	State <u>CA</u> Zip <u>92177-7026</u>
Telephone	Fax (858) 565-8398
Email: _pete@blueskieslandscape.com	
Print Name Pedro Navarro Jr	Title Vice President
Signature _ Puch hange	Date <u>ラートーレ</u>

BID NO. B04-13/14



Page 7

Business License

A business license is required in the City of Chula Vista by any person who transacts, engages in or carries on any business within the corporate limits of the city (Chula Vista Municipal Code 5.02.020).

Payment Terms

Terms: ____% ___Lo_Days

Prompt payment discounts offered for less than fifteen (15) days will *not* be considered in evaluating bids for award. However, discounts offered of less than fifteen (15) days will be taken if payment is made by the City within the discount period. In the absence of terms, payment shall be Net Thirty (30) Days.

Public Agency Participation

Other public agencies (e.g. city, county, public corporation, political subdivision, school district, or water authority) may want to participate in any award as a result of this bid. The City of Chula Vista shall incur no financial responsibility in connection with any purchase by another public agency. The public agency shall accept sole responsibility for placing orders and making payments to the successful bidder. This option will *not* be considered in bid evaluation. Please indicate whether this will be granted.



California State Contractor's License

License No. <u>#989656</u>; License Expiration Date <u>12-31-15</u>; Classification <u>C-27</u>



Disclosure Statement***

Pursuant to City Council Policy 101-01, prior to any action on a matter that requires discretionary action by the City Council, Planning Commission or other official legislative body of the City, a statement of disclosure of certain ownerships, financial interests, payments, and campaign contributions must be filed. The following information must be disclosed:

- List the names of all persons* having a financial interest in the project that is the subject of the application, project or contract (*e.g.*, owner, applicant, contractor, subcontractor, material supplier).
 <u>Blue Skies Landscape Maintenance, Inc. (applicant)</u>
 <u>Simplot Partners (supplier)</u>
 <u>Hvdro Scape Products (supplier)</u>
- 2. If any person* identified in section 1. is a corporation or partnership, list the names of all individuals with an investment of \$2000 or more in the entity. Luis Delgado, Owner & President of BSLM, Inc.
- 3. If any person* identified in section 1. is a non-profit organization or trust, list the names of any person who is the director of the non-profit organization or the names of the trustee, beneficiary and trustor of the trust.
- 4. Please identify every person,* including any agents, employees, consultants, or independent contractors, whom you have authorized to represent you before the City in this matter.

LIGHT LIGHT LIGHT LIGHT LIGHT LIGHT	
Pete Navarro, Vice President	
Matt Ziskin	

91910



Disclosure Statement***

Disclosure Statement – Page 2

5. Has any person* identified in 1., 2., 3., or 4., above, or otherwise associated with this contract, project or application, had any financial dealings with an official** of the City of Chula Vista as it relates to this contract, project or application within the past 12 months? Yes No XX

If Yes, briefly describe the nature of the financial interest the official** may have in this contract.

- 6. Has any person* anyone identified in 1., 2., 3., or 4., above, or otherwise associated with this contract, project or application, made a campaign contribution of more than \$250 within the past twelve (12) months to an official of the City of Chula Vista? No XX Yes ___ If yes, which official?
- 7. Has any person* identified in 1., 2., 3., or 4., above, or otherwise associated with this contract, project or application, provided more than \$440 (or an item of equivalent value) to an official** of the City of Chula Vista in the past twelve (12) months? (This includes any payment that confers a personal benefit on the recipient, a rebate or discount in the price of anything of value, money to retire a legal debt, gift, loan, etc.) Yes_____No_XX__.

If Yes, which official** and what was the nature of item provided?

7. Has any person* identified in 1., 2., 3., or 4., above, or otherwise associated with this contract, project or application, been a source of income of \$500 or more to an official** of the City of Chula Vista in the past twelve (12) months? Yes <u>No XX</u>.



Disclosure Statement***

If Yes, identify the official** and the nature of the income provided?

Date: 5-1-14

Signature of Contractor/Applicant

<u>Pedro Navarro</u> Jr. Print or type name of Contractor/Applicant

* Person is defined as: any individual, firm, co-partnership, joint venture, association, social club, fraternal organization, corporation, estate, trust, receiver, syndicate, any other county, city, municipality, district, or other political subdivision, or any other group or combination acting as a unit.

** Official includes, but is not limited to: Mayor, Council member, Planning Commissioner, Member of a board, commission, or committee of the City, and City employees or staff members.

*** This Disclosure Statement must be completed at the time the project application, or contract, is submitted to City staff for processing, and updated within one week prior to consideration by the legislative body.

DISTRICT MAINTENANCE PRICING

Bid Group 1

CFD	LANDSCAPE CODE ACREAGE	PERIOD	PRICE PER MONTH	TOTAL PRICE 12 MONTHS
	Code 1- 20.33 acres	12 MONTHS	\$9,065.26	\$108,783.06
Sunbow II 178.77 acres	Code 2- 6.79 acres	12 MONTHS	\$3,038.78	\$36,465.31
Detailed Code	Code 3- 32.97 acres	12 MONTHS	\$7,609.71	\$91,316.49
Descriptions in Landscape	Code 4- 30.15 acres	12 MONTHS	\$6,639.34	\$79,672.10
Standards	Code 5- 88.63acres	12 MONTHS	\$1,838.59	\$22,063.04
	• Tree Trims 167	ONE TIME		\$16,700.00

- Trees to be trimmed to current ANSI 300 and ISA standards, to include crown cleaning, shaping, and dead wood removal, no more than 25% live crown removal.
- Tree trimming to be directed by ISA Certified Arborist, unsupervised trimming will not be paid for.

Sunbow II

		Job Site Acres	Bage per Acre	Total Bags per Cat.	\$\$\$ Per Bag	Total Cost per Cat.	Times per Year	Annual Cost
Code 1: Pro Green	12-4-6	20.33	7.25	147	\$19.44	\$2,865.31	2	\$5,730.62
Code 2:			- 00		\$00.47	* 000 45	4	\$806.15
Iron Advantage	15-4-6	6.79	5.80	39	\$20.47	\$806.15		
Nitra King	19-4-4	6.79	4.58	31	\$20.17	\$627.25	1	\$627.25
Super Turf	25-5-5	6.79	3.48	24	\$29.66	\$700.84	1	\$700.84
Super Iron	9-9-9	6.79	9.67	66	\$21.36	\$1,402.48	1	\$1,402.48
Code 3: Pro Green	12-4-6	32.97	7.25	239	\$19.44	\$4,646.79	2	\$9,293.58

Total Annual Fertilizer Cost for the Area: \$18,560.93

Monthly Cost: \$1,546.74

Bid Group 2

CFD	LANDSCAPE CODE ACREAGE	PERIOD	PRICE PER MONTH	TOTAL PRICE 12 MONTHS
	Code 1- 0.72 acres	12 MONTHS	\$ 893.40	\$ 10,720.86
Otay Ranch Sta B 94.81 acres	Code 2- 0.36 acres	12 MONTHS	\$ 331.84	\$ 3,982.03
Detailed Code	Code 3-90.21 acres	12 MONTHS	\$26,051.69	\$312,620.26
Descriptions in Landscape	Code 4- 3.52 acres	12 MONTHS	\$ 459.47	\$ 5,513.58
Standards	Code 5- 0 acres	12 MONTHS	-0-	-0-
	• Tree Trims 100	ONE TIME		\$ 10,000.00

- Trees to be trimmed to current ANSI 300 and ISA standards, to include crown cleaning, shaping, and dead wood removal, no more than 25% live crown removal.
- Tree trimming to be directed by ISA Certified Arborist, unsupervised trimming will not be paid for.

Otay Ranch Sta B

		Job Site Acres	Bage per Acre	Total Bags per Cat.	\$\$\$ Per Bag	Total Cost per Cat.	Times per Year	Annual Cost
Code 1: Pro Green	12-4-6	0.72	7.25	5	\$19.44	\$101.48	2	\$202.95
Code 2: Iron Advantage Nitra King Super Turf Super Iron	15-4-6 19-4-4 25-5-5 9-9-9	0.36 0.36 0.36 0.36	5.80 4.58 3.48 9.67	2 2 1 3	\$20.47 \$20.17 \$29.66 \$21.36	\$42.74 \$33.26 \$37.16 \$74.36	1 1 1 1	\$42.74 \$33.26 \$37.16 \$74.36
Code 3: Pro Green	12-4-6	90.21	7.25	654	\$19.44	\$12,714.20	2	\$25,428.39

Total Annual Fertilizer Cost for the Area: \$25,818.86

Monthly Cost: \$2,151.57

Bid Group 3

CFD	LANDSCAPE CODE ACREAGE	PERIOD	PRICE PER MONTH	TOTAL PRICE 12 MONTHS
	Code 1- 17.63 acres	12 MONTHS	\$12,942.89	\$155,314.63
Otay Ranch AB 25.93 acres	Code 2- 6.93 acres	12 MONTHS	\$ 4,365.35	\$ 52,384.22
Detailed Code	Code 3- 0.00 acres	12 MONTHS	-0-	-0-
Descriptions in Landscape	Code 4- 1.37 acres	12 MONTHS	\$ 612.68	\$ 7,352.17
Standards	Code 5- 0.00 acres	12 MONTHS	-0-	-0-
	• Tree Trims 75	ONE TIME		\$ 7,500.00

CFD	LANDSCAPE CODE ACREAGE	PERIOD	PRICE PER MONTH	TOTAL PRICE 12 MONTHS
······································	Code 1- 4.79 acres	12 MONTHS	\$ 3,421.13	\$ 41,053.52
Otay Ranch Sta Village 1 West	Code 2- 2.00 acres	12 MONTHS	\$ 970.17	\$ 11,642.04
37.19 acres	Code 3- 30.40 acres	12 MONTHS	\$13,531.32	\$162,375.86
Detailed Code Descriptions in	Code 4- 0.00 acres	12 MONTHS	-0-	-0-
Landscape Standards	Code 5- 0.00 acres	12 MONTHS	-0-	-0-
S MILLIUI UD	• Tree Trims 85	ONE TIME		\$ 8,500.00

• Trees to be trimmed to current ANSI 300 and ISA standards, to include crown cleaning, shaping, and dead wood removal, no more than 25% live crown removal.

• Tree trimming to be directed by ISA Certified Arborist, unsupervised trimming will not be paid for.

Otay Ranch AB

		Job Site Acres	Bage per Acre	Total Bags per Cat.	\$\$\$ Per Bag	Total Cost per Cat.	Times per Year	Annual Cost
Code 1: Pro Green	12-4-6	17.63	7.25	128	\$19.44	\$2,484.77	2	\$4,969.54
Code 2: Iron Advantage	15-4-6	6.93	5.80	40	\$20.47	\$822.77	1	\$822.77
Nitra King	19-4-4	6.93	4.58	32	\$20.17	\$640.18	1	\$640.18
Super Turf	25-5-5	6.93	3.48	24	\$29.66	\$715.29	1	\$715.29
Super Iron	9-9-9	6.93	9.67	67	\$21.36	\$1,431.40	1	\$1,431.40
Code 3: Pro Green	12-4-6	0.00	7.25	0	\$19. 44	\$0.00	2	\$0.00

Total Annual Fertilizer Cost for the Area: \$8,579.19

Monthly Cost: \$714.93

Otay Ranch Sta Village 1 West

		Job Site Acres	Bage per Acre	Total Bags per Cat.	\$\$\$ Per Bag	Total Cost per Cat.	Times per Year	Annual Cost
Code 1: Pro Green	12-4-6	4.79	7.25	35	\$19.44	\$675.10	2	\$1,350.21
Code 2: Iron Advantage Nitra King Super Turf Super Iron	15-4-6 19-4-4 25-5-5 9-9-9	2.00 2.00 2.00 2.00	5.80 4.58 3.48 9.67	12 9 7 19	\$20.47 \$20.17 \$29.66 \$21.36	\$237.45 \$184.76 \$206.43 \$413.10	1 1 1 1	\$237.45 \$184.76 \$206.43 \$413.10
Code 3: Pro Green	12-4-6	30.40	7.25	220	\$19.44	\$4,284.58	2	\$8,569.15

Total Annual Fertilizer Cost for the Area: \$10,961.10

Monthly Cost: \$913.43

Bid Group 4

CFD	LANDSCAPE CODE ACREAGE	PERIOD	PRICE PER MONTH	TOTAL PRICE 12 MONTHS
<u></u>	Code 1- 3.35 acres	12 MONTHS	\$ 2,986.13	\$35,833.52
Village 11 Phase 3 23.31 acres	Code 2- 0.03 acres	12 MONTHS	\$ 204.18	\$ 2,450.16
Detailed Code	Code 3- 11.69 acres	12 MONTHS	\$ 7,529.12	\$90,349.48
Descriptions in Landscape	Code 4- 8.24 acres	12 MONTHS	\$ 5,227.00	\$62,723.98
Standards	Code 5- 0.00 acres	12 MONTHS	-0-	-0-
	• Tree Trims 45	ONE TIME		\$ 4,500.00

- Trees to be trimmed to current ANSI 300 and ISA standards, to include crown cleaning, shaping, and dead wood removal, no more than 25% live crown removal.
- Tree trimming to be directed by ISA Certified Arborist, unsupervised trimming will not be paid for.

Village 11 Phase 3

.....

		Job Site Acres	Bage per Acre	Total Bags per Cat.	\$\$\$ Per Bag	Total Cost per Cat.	Times per Year	Annual Cost
Code 1: Pro Green	12-4-6	3.35	7.25	24	\$19.44	\$472.15	2	\$944.30
Code 2: Iron Advantage Nitra King Super Turf Super Iron	15-4-6 19-4-4 25-5-5 9-9-9	0.03 0.03 0.03 0.03	5.80 4.58 3.48 9.67	0.2 0.1 0.1 0.3	\$20.47 \$20.17 \$29.66 \$21.36	\$3.56 \$2.77 \$3.10 \$6.20	1 1 1 1	\$3.56 \$2.77 \$3.10 \$6.20
Code 3: Pro Green	12-4-6	11.69	7.25	85	\$19.44	\$1,647.59	2	\$3,295.18

Total Annual Fertilizer Cost for the Area: \$4,255.10

Monthly Cost: \$354.59

MINIMUM STAFFING REQUIREMENTS

Supervision

The Contractor shall assign a supervisor as indicated within the city limits of the City of Chula Vista, working regular working hours for the duration of this Contract. He shall have a minimum of five (5) years experience in landscape maintenance supervision. The Contractor, or his staff, should have expertise and experience in turf management, entomology, pest control, soils, fertilizers, plant identification and irrigation system maintenance. Supervisor shall be capable of communicating effectively both in written and spoken English and background must include experience in Public Works projects of the type found in the City of Chula Vista. The Contractor shall outfit all supervisors and acting supervisors with a portable personal communication device capable of transmitting and receiving phone calls from anywhere (not a calling card). All supervisors must be able to communicate via email on a daily basis.

Please show number of personnel you will have on the job 40 hours per week or hours you expect for each category below. Bid proposals that do not meet the City's Minimum Staffing Requirements will not be considered. Bidders may be asked to justify the accuracy of their bid.

VILLAGE 11 Phase 3

		City's Minimum <u>Requirements</u>	Contractor's <u>Proposed Staffing</u>
1	Supervisor	4 hrs/wk	4 hrs/wk
1. 2	Irrigation Specialist	20 hrs/wk	20 hrs/wk
2. 3.	Crew Leader (working)	1 Full Time Position	1 Full Time
<i>3</i> . 4.	Landscape laborers, irrigation helper	3 Full Time Positions	3 Full Time
т. 5	Total Full Time Positions	4.6	4.6

*Full Time Positions are 8hrs/day 40 hours/week.

Review of Labor

Contractor shall provide at a facility's walk-through a list of personnel satisfying minimum requirements to include a brief summary including years of experience and licenses held (if applicable). Refer to labor summary for list of job titles.

Rating:				
Comments:				
	Angele and A			
	4	1		
			<u></u>	
	<u></u>			

SUNBOW II

		City's Minimum <u>Requirements</u>	Contractor's <u>Proposed Staffing</u>
1.	Supervisor	8hrs/wk	8 hrs/week
2.	Irrigation Specialist	1Full Time Position	1 Full Time
3.	Crew Leader (working)	1 Full Time Position	1 Full Time
4.	Landscape laborers, irrigation helper	6 Full Time Positions	6 Full Time
5.	Total Full Time Positions	8.2	8.2

*Full Time Positions are 8hrs/day 40 hours/week.

Review of Labor

Contractor shall provide at a facility's walk-through a <u>list of personnel satisfying</u> <u>minimum requirements</u> to include a brief background including years of experience and licenses held (if applicable). <u>Refer to labor summary for list of job titles</u>.

Rating:_____

8.2

OTAY RANCH Sta B

		City's Minimum <u>Requirements</u>	Contractor's <u>Proposed Staffing</u>
1	Supervisor	8hrs/wk	8 hrs/wk
יי ז	Irrigation Specialist	1Full Time Position	1 Full Time
2. ว	Crew Leader (working)	1 Full Time Position	1 Full Time
э. л	Landscape laborers, irrigation helper	6 Full Time Positions	6 Full Time
4.	Landscape laborers, inigation hoper		

5. Total Full Time Positions

*Full Time Positions are 8hrs/day 40 hours/week.

8.2

Review of Labor

Contractor shall provide at a facility's walk-through a <u>list of personnel satisfying</u> <u>minimum requirements</u> to include a brief background including years of experience and licenses held (if applicable). <u>Refer to labor summary for list of job titles</u>.

Rating:_____

OTAY RANCH VILLAGE 1 WEST

		City's Minimum <u>Requirements</u>	Contractor's <u>Proposed Manpower</u>
1.	Supervisor	4 hrs/wk	4 hrs/wk
1. 2.	Irrigation Specialist	1Full Time Position	1 Full Time
2. 3.	Crew Leader (working)	1 Full Time Position	1 Full Time
3. 4.	Landscape laborers, irrigation helper	3 Full Time Positions	3 Full Time
5.	Total Full Time Positions	5.1	5.1

*Full Time Positions are 8hrs/day 40 hours/week.

Review of Labor

Contractor shall provide at a facility's walk-through a <u>list of personnel satisfying</u> <u>minimum requirements</u> to include a brief background including years of experience and licenses held (if applicable). <u>Refer to labor summary for list of job titles</u>.

Rating:_____

OTAY RANCH AB

		City's Minimum <u>Requirements</u>	Contractor's Proposed Manpower
1	Supervisor	4 hrs/wk	4 hrs/wk
2.	Irrigation Specialist	1Full Time Position	1 Full Time
2. 3.	Crew Leader (working)	1 Full Time Position	1 Full Time
5. 4.	Landscape laborers, irrigation helper	3 Full Time Positions	3 Full Time
ч.	Landscupe Roorers, 22-Banana 1		
5	Total Full Time Positions	5.1	5.1

*Full Time Positions are 8hrs/day 40 hours/week.

Review of Labor

Contractor shall provide at a facility's walk-through a <u>list of personnel satisfying</u> <u>minimum requirements</u> to include a brief background including years of experience and licenses held (if applicable). <u>Refer to labor summary for list of job titles</u>.

Rating:_____

To insure a high level of performance, more staffing may be required at any time depending on the Contractor's ability to perform all work efficiently and according to all specifications. Any adjustments to staffing must occur immediately when requested by the City's Representative.

All costs should reflect all other bid sheets for this contract. All costs are for the addition or deletion of individual services as described at the City's discretion.

EQUIPMENT INVENTORY

Contractor shall provide a list of equipment (i.e. Toro Groundsmaster 4000D, Hustler Z XR7...) showing manufacturer, quantity, whether rented or owned, and age of equipment used for each District.

3-Ferris Riding Mowers, all owned, 1-new; 2-couple years old

1-Kubota Tractor, owned, purchased 2012

Multiple hand held equipment (new & used): weedwhips, chain saws, edgers, blowers, hedgers

Multiple walk behind mowers (new & used)

Rating:_____

TRUCK FLEET

Contractor shall provide a list of trucks to be utilized in the District. Include vehicle type (i.e.; 3/4 ton pick-up, 9 yd dump truck...).

30 - Chevy 1/2 Ton Work Trucks, years from 2000-2012

1 - 2004 Chevy 3/4 Ton Work Truck

1 - 2005 Chevy 10 yd Dumptruck

TRAFFIC CONTROL EQUIPMENT

Contractor shall provide a list of traffic control equipment to be utilized in the District. (i.e.; tow able electronic sign board, directional signs, barricades delineators...). Contractor should also specify if the equipment is rented or owned.

Cones

REFERENCES

Contractor shall provide the City with a brief description and at least three references to contact that substantiate comparable landscape maintenance duties within a municipality, county or state.

6888

City of Encinitas, John Franken, (760) 633-2755; Multiple parks throughout city

<u>City of San Diego, Jaime Diez, (619) 633-1306; Street medians, slopes and rights of</u> way on Scripps Poway Pkwy from the I-15 to Poway city limits

<u>City of San Diego, Mike Cook, (619) 633-1304; San Diego River maintenance of</u> slopes, trail and walkways

Rating:_____

Comments:_____

SUMMARY EVALUATION

It is recommended that, ______, Contractor, proposal be accepted or rejected after evaluation of the foregoing criteria for satisfactory compliance.

B	ID Numb	er B04-13	/14		
				·	
			10.91 ⁻⁰		
valuator/Title:					

REPORTS AND SCHEDULES

The Contractor, as part of this agreement, will submit reports and schedules, along with monthly invoices for maintenance and parts and supplies according to terms covered in the Landscape Standards document. Failure to submit reports and schedules will result in a delay of monthly payments and/or a performance deficiency deduction. Such reports must be detailed and thorough and may include but not be limited to the following:

Monthly Maintenance Schedule(s)

- 1. Contractor shall provide a weekly maintenance schedule to the City in calendar format before the first day of the month. Schedule shall show all:
 - Mowing locations
 - · Pruning locations
 - Trash detail/sidewalk detail
 - Pesticide use and locations
 - Other items as requested by City representative
- 2. Notification of change in scheduled work must be received by the City at least 12 hours prior to the scheduled time for the work.

Monthly Irrigation Reports

The following should be completed and submitted by the 5th of each month.

1. Monthly Irrigation Tracking Form

2. All irrigation invoices for parts and handling for the prior month, separated by District.

Pesticide Use Reports - shall be submitted monthly with any invoicing.

Accident Reports - shall be submitted immediately.

Incident Reports - shall be submitted monthly with any invoicing.

Hazard Reports shall be reported immediately and form submitted monthly with any invoicing.

Contractor shall adjust his work schedule to compensate for all City-observed holidays and inclement weather.

Tentative Schedule for Maintenance

(Scope of Services and Schedule)

Please show the total number of workers and hours per day by District

HOURS	MONDAY	TUESDAY	WEDNESDAY	THURSDAY	FRIDAY
6:00A					
7:00A	4.6	Full Tim	e Empla	yes per	Contract
8:00A	4 Charles and a second second	, provide the second			
9:00A					
10:00A					
11:00A					
12:00P					
1:00P					
2:00P					
3:30p 3:00P	Anna and a state of the state o	BACCOMMUNICATION AND AND AND AND AND AND AND AND AND AN	1. Standard and an and a standard and an	and to get a second sec	
4:00P		· · · · · · · · · · · · · · · · · · ·			
5:00P					:

District:

OR Vil 11 Phs 3

Tentative Schedule for Maintenance

(Scope of Services and Schedule)

Please show the total number of workers and hours per day by District

HOURS	MONDAY	TUESDAY	WEDNESDAY	THURSDAY	FRIDAY
6:00A					
7:00A	8.2	- Full-	Time En	playeesp	erContract
8:00A		- ₄₁ 544,40000-1006	1 / 446-0146		
9:00A					
10:00 A					
11:00A					
12:00P					
1:00P					
2:00P					
3:30p 3:00P			e nagy nine kandhari	<u>,</u>	and the second second
4:00P					
5:00P					

District: S

Sunbow II

Tentative Schedule for Maintenance

(Scope of Services and Schedule)

Please show the total number of workers and hours per day by District

HOURS	MONDAY	TUESDAY	WEDNESDAY	THURSDAY	FRIDAY
6:00A					
7:00A	8.2	Full Ti	me Emp	loyees p	er Contract
8:00A		4 The Account of the Count of t			
9:00A					
10:00A				in the second seco	
11:00A	(1) Manual Annual An				
12:00P					
1:00P					
2:00P				and the second sec	
3:30p	The subscription of the su	presented and methods.	the second se		
4:00P					······
5:00P					

District: OR StaB

IN SIAD

Tentative Schedule for Maintenance

<u>.</u>

(Scope of Services and Schedule)

Please show the total number of workers and hours per day by District

HOURS	MONDAY	TUESDAY	WEDNESDAY		FRIDAY
6:00A					
7:00A	5.IF	Ul Time	- Employ	yes per C	entract
8:00A	A subscription of the		**************************************		
9:00A					
10:00A					
11:00A					
12:00P					
1:00P					
2:00P					
3:30p 3:00P	. manufacture .	· services		arrange and the second	
4:00P					
5:00P					

District: OR Vil 1 West

Tentative Schedule for Maintenance

(Scope of Services and Schedule)

Please show the total number of workers and hours per day by District

HOUI	RS	MONDAY	TUESDAY	WEDNESDA	v	THE DOD W	
6:004	4			(CDIVESIDA		THURSDAY	FRIDAY
7:00A	A	5.1 Fi	fel Tir	he Emp		rules po	Contract
8:00A						<u> </u>	
9:00A						**************************************	
10:00A					╎		
11:00A					+-		
12:00P	T				-+-		
1:00P							
2:00P					+-		
3:30 3:00P	P						
4:00P				·	 		
5:00P							

District: O

xt: OR AB